Simplification - 1

1. By how much is 12% of 24.2 more than 10% of 14.27?
a.0.1484

b. 14.84

c. 1.484

d.2.762

Correct Option: C

Explanation:
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It is more by (1— x24.2—-—— x14.2) =2.904-1.420=1.484
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2. The value of 4.12 is
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d. None of these Q

Correct Option: C §

Explanation: ‘é
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3. The greatest fraction out of 2> and / is
- ¢ 5°6° 12 g
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Correct Option: B

Explanation:

2 5 11 7
37 0.4; 3 _0'833’E =0.916 and 3 0.875

11
5V is largest number.

4. 2.53x0.154 is the same as
a. 253 x0.00154



b.25.3x1.54

c. 253 x0.0154

d. 253 x0.154
Correct Option: A
Explanation:

Both contain same number of decimal places.

5 0.23-0.023
©0.0023+23
a. 0.207

b. 207

c. 2070
d. 0.0207
Correct Option: C

Explanation:
0.2070 ~ 0.2070 _ 0.2070 x 10000 2070
0.0023 0.0001  0.0001 x 10000
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6. 1.6

1.6 \g(’)
a. 2.56 ,(\\,
b.1.76 @
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c. 0.267 ) ,@
d. None of these Q

Correct Option: D §
Explanation: ‘é

~0.1
Lot 2% _ 16 then x—0.11= 1.6x 1.6 = 2.56
=>x=256+0.11=2.67
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7. If 1.5x=0.04y, then the value of Y
y+Xx
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Correct Option: B

Explanation:
x 0.04 2
y 15 75

y-x _l1=xy  1=-2/75
y+x 1+x/y 1+2/75
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8.0.6+0.7+08+03 =2

Correct Option: C

Explanation:
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0.6+0.7+08+03 = (3 +

9. The square root of

a.24
b.2.4

c. 0.024

d. None of these
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0.320 % 0.081 x 4.624

1.5625 x 0.0289 x 72.9 x 64

&

Correct Option: C C)O
Explanation: 0)&.
0.320  0.081 < 4.624 324 % 81
| | 030w n 3§63
Given that N 1= 0.0280 x 72.9 < 64 15625 x 28?8:7/29 < 64

=

18% x 9% x 682

18 X9 x 68

1252 x 17? x 9> x 82
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Explanation:
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and > 0.77
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0.772<0.785<0.842
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20+8x0.5

207
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=12

T 125x17x9x3x8 :3 =0.024
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10.Which of the following fractions are in ascc@ order?
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d. None of these
Correct Option: B

Explanation:
20+8x0.5
Let ———— =12 = 20+4=12(20 - x)
20—x

= 24 =240 - 12x = 12x=216 =x=18

0.5
12.0.15+ 55 =7
a.4.5
b. 45
c. 0.03
d 0.45
Correct Option: A

Explanation:
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13.1fV 15 =3.88 , the value of ¥ 3 is O&

a.0.43

b. 1.89

d. 1.63

Correct Option: C Q

Explanation: §
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14.1f 12276+ 155=79.2, then the value of 122.76+ 15.5 is
a. 7.092

b.7.92

c. 79.02

d.79.2

Correct Option: B

Explanation:

1550 1550 155 10 10

15. What decimal of an hour is a second ?
a. 0.0025
b. 0.0256



c. 0.00027

d. 0.000126
Correct Option: C
Explanation:

One second is 3600 part of an hour.

1
The decimal is 60%60 =0.00027
16. 15.60 % 0.30 =?
a.4.68
b. 0.458
c. 0.468
d. 0.0468
Correct Option: A

Explanation:

1560 x 30 = 46800
15.60 % 0.30 = 4.6800 = 4.68
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d. None of these Q
Correct Option: D :
Explanation:
TR B TG
19 7 70 35
17.28 +x
18. =2
8 3.6x0.2 00
a. 120
b.1.20
c.12
d.0.12

Correct Option: D

Explanation:

17.28 +x

Let —— =2

> ——— =200x3.6x0.2
X

17.28

=——=0.12
200 x3.6x0.2 0

= X
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19.1f V5 =2.24 then the value of —————
2N3-04

is



a.0.168

b.1.68

c. 1.29

d.1.63

Correct Option: B

Explanation:
3V53 3%2.24

N35-048 2%x224-048

6.72 6.72
T4.48-0.48 4 - 1.68

©0.289
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20 0.00121

T 11
Correct Option: A &

Explanation: &
0.289 0.289 x 100000 289 x 100 170 o)
Y — N

0.00121 0.00121 x 100000 121 1 ,Q,

+1} is equal to

0.0001 N
a. 100 §Q’
b. 101

c. 1010
d. 1101

2 2 &
21.{(0.1) (0.01) @

Correct Option: A

Explanation:
0.01 —0.0001 0.0099

+1)=(———nu +1 =(99+1)=100
0.0001 )~ Gooor TV (99+1)

0.5x0.5%x0.5+0.6x0.6x0.6
0.5x0.5x-0.3+0.6x0.6
a. 0.3

b.1.1
c. 0.1
d. 0.61
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Correct Option: B
Explanation:

0.5)° +(0.6)°
(0.5)> = 0.5 % 0.6 +(0.6)>




3 3
p’+q _
Fo— )=(P+q)

=(0.5+0.6)=1.1

-~ (0.87)> +(0.13)° L
(0.87)%+(0.13)2-0.87 x 0.13

a. 0.13

b. 0.74

c. 0.87

d. 1

Correct Option: D

Explanation:
p’+q’
Given expression resembles
where p = 0.87 ; q=0.13
pP’+q’  _ (p+9@’+q’—pq)
(P> +q*>—pq) (P2 +q%—pq)
=(p+q)=(0.87+0.13)=1

24,

p’+q*—pq



